ol
el
%7
il
Njo

oln

® -5<2




uh27) Atstolat,

=
=

(=10) = (=3) + (=5)

2.

.o-12

e

ul
RO

_ — — |

—
0
L
l_l
—
()
L
|
—
=]
i
L




® (+20) =+ (+5)

@ (-30) = (-6)

B

CEACRCACRGR




O
mlo
ol
8o
Mo
.
rlo

@ (-1)2<12 2)5% < (-5)* ® -22<-23

@ -3% > —(-3)? ® —(-2)% < -22

~&B

D (-1)2=1,12=10°]BF (-1)2 =12 o[t}

@ 5% =25, (-5)* = 625 °|B=2 52 < (-5)* o]t}
®-22=-4,-2°=-80|B& 22> 23 o]t},

@ -3%=-27, —(-3)2=-9 0|B& -33 < —(-3)% o]},
® —(-2)2 = -4, -22 = 40|22 —(-2)2 = 22 o[},




a,2 Bt 2 WF A2 FE b, -4 Hr}
& ool

,a+bxc 9k

12

-

ul

©
|
I
~
|
<t
|
I
o
<t
I
—
~
L«
_ —
o~ |l
I =
< |
> L
o X
[<t
__ ._.
)&
a
| N
SN—
P
o
—
|
I
S




® 359 A 4, 0,

12
3

o thet 4% F 87 e AL BE DY
H7]
@-; ©1 ©-51 ®0 @z
® 3.7 ® -9
@ F4o] A4 370l
@ g5 st 3ol
@)A%7} ohd sl 2 Aol
@)352] A4t 37 oIk,
® fe4el Ast 7A ol
® A7t o gel4E —2, ~5.1, 3.7 o] 37 e,

4), -9 9] 47 o},




ohe SAA el A P 7} Uhehie 4

p
-2 -1 0 41 42
4 3
@ -2- @)-1- ® -1z @ -




|Al=1|B|, A=B-6
L A=-3,B=3




9. oS AUl Mg 2

®© -17 @ +25

B

@ 17
@ 25
®0
@ 19
® 37

Z7to) Avhgte o,




10.

o 5 7 9 dadATE st=A " 2420

3 1
i,
- 5 @) < 31

2
@ —§>—§

® 0<-5

S5e ddglo] 245 #ong
®-2>-3
®0>-5
11
@+7<+3
2 1
©-3<73




11. o= & At 23t 7 2 A2?

® -6+11-7-8 @ 7-11+3-12
@—4+1—7+8 @ -10-3+2-4

® -8-4-7+1

~&B

D-6+11-7-8=-10
@7-1143-12=-13
®-4+1-7+8=-2

@ -10-3+2-4=-15
®-8-4-7T4+1=-18
mrebA 7P 2 A2 @0t




—+

I

It

@ ® ©@ © O




(=1) + (=12 4+ (=1)3 + - 4 (=1)®

= Axtsteiet,

1)+
“141-141-1+4---+1

(=
~0

(-1)2 + (=1)3 4+ (-1)%°




14. 5 P4 a, bl Hste] a> b A W, b F 7V 2L S

® a @ b ® a+b @ a-b (@)b—a

®a>bOlBE b-a<0JYrh
Ue 0, @, 3, ®= 25 FHau,




15. o} % FolA ool A40) M52 o, &0 B0 A4S bt 3
a-b &S Fotolet
13 1 8 9
2L, -84, 4, 1, -
4’6 8 15° 17
> =
> He: 1
ofe] Al A% 4 HE2 Bel S0 T, So] Fh Aa
ol - 52 29l S|tk
S =4 2-3omz g gho 1T - jolnz ge
Hoeoll &3k,
FA AL S, 2 4, 12 40IBR 0 = 4, 29 HAE
17
-3,-5, - ﬁi 3 7/fo]B2 2 p =3 o]t}
wakA - b = 19|tk




16. 524 91014 -6 7 3ok A} 12 o Ggote 3

Aol e 5 FoHH?

-6 Tt +2 Ato]o] A= g o]lBR
gz4ﬂﬁ

-6 oA LEZ O R 4 THF T 5

—2 o]t}




a=2, b=0
a+b=2+0=2




(=6) 4+ (=4) = (=7), B=(=5) = (-12) = (+3) € W, A + B 9]

Fatelet.

O
=

13

—_— — — ~— — —

L | B |
< Q

18. A

=+1

+B=(-3)+(+4)




]

UEE
ol

_:?_

o1 A4 TgelTt 4, B ol Sold Tee

I, o

4>
i do
N fe
EMO

N rlo
[e]

(=27) x 135 + (=27) x 865 = (—-27) x A = B

>
>
> HED A= 1000
>

FEHD B = -27000

~27) X 135 + (-27) X 865
(=27) x (135 + 865)
= (=27) x 1000 = —27000




20. A S a, b, col st axb=6, ax(b+c)=14 L ™, axc 9
= oot

> E:
> ®Hgh: o8
ab + ac = 14

cac=14-ab=14-6=8







5 2 3 o
WSS - -8 - o FOlH AR e A $E ot Fa
T AL 1

40 16 2
-8 = = = =
o @ 7 © 9 9 35 © 21

Fo2 ¥ 24 FolA Al 55 Bo} g
2 3

A7} g odw - =
11 Ay 71 o = 5




o9

,3a+b 9 3t

S}
=

b 2t1l

<t o

[a\R K]

(2B K]




24.

o2 2] ASHA A vt B Hol e F 3 gy
9] 9k oot} ojuff, Holz] ¢k= Al Al &= 9

FS AT A9 g2? =7
® 20 @ 68 @ 120 @ 144 @252
ot B 5 Ho] 0] 9k2 go|B2 9ot ufs Hi= Ho| 4=

9, 49t utF B WO 5= 4, 7 ALF B HO| 5= —
Sli=

wat A 49 B
olct,

S 9x4x(=7) = —252 O|B& | A |= 252




o2 218 WEst= vl B4 a, b, ¢, dol ot a+b+c+d 9
a9
Z7A
1
@ axb=-5 ©b+c:—§
© |bl = ld| @ a<c<d<b
@7 @-2 o0 @ 3 ® 5
@ axb=-5 A
a=-5,b=1%=a=5b=-1
TE=u=1,b=-5%=ag=-1,b=5
1
©b+C=—§ of| A
b=-1,c=2FEb=1,c=-2
TE=Ep=-5c=10E=b=5 c=-10
© [b| = |d| o114

b=-1,d=1FE=b=1,d=-1
TE=b=-5d=5F=b=5d=-5
@a<c<d<bo|A
a=-5b=1, c=-2, d=—1°|t}.
w2t a + b+ ¢ +d = -7 °|t}.




